	BOTTLE DRIVE	BOTTLE	1ST BOTTLE		GARY'S TOTAL			CHRISTMA	2ND			TOTAL MONEY	TOTAL PROFIT			
STUDENT NUMBER	SHARE VALUE	DRIVE SHARES	DRIVE PROFIT	FIRST DEPOSIT		CHRISTMA S BASKETS	CHRISTMA S 50/50	S BAKE SALE	BOTTLE DRIVE	2ND TRIP DEPOSIT	3RD TRIP DEPOSIT	FRESH IS BEST	FRESH IS BEST	4TH TRIP DEPOSIT	5TH TRIP DEPOSIT	TOTAL
788307	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$400.00	\$450.00
887994	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$150.00
841884	\$30.23	0	\$0.00	\$50.00	\$5.40	\$9.09	\$4.26	\$10.00	\$0.00	\$100.00	\$100.00	\$10.00	\$3.50	\$100.00	\$0.00	\$382.25
841880	\$30.23	0	\$0.00	\$50.00	\$5.40	\$9.09	\$4.26	\$10.00	\$0.00	\$100.00	\$100.00	\$10.00	\$3.50	\$100.00	\$0.00	\$382.25
825303	\$30.23	0	\$0.00	\$50.00	\$32.40	\$9.09	\$4.26	\$10.00	\$0.00	\$100.00	\$100.00	\$0.00	\$0.00	\$100.00	\$0.00	\$405.75
758223	\$30.23	1	\$30.23	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$23.14	\$100.00	\$100.00	\$0.00	\$0.00	\$100.00	\$0.00	\$403.37
872450	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2036066	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$200.00	\$0.00	\$0.00	\$0.00	\$0.00	\$250.00
842782	\$30.23	2	\$60.47	\$50.00	\$14.40	\$9.09	\$4.26	\$10.00	\$46.28	\$100.00	\$100.00	\$35.00	\$13.25	\$0.00	\$100.00	\$507.75
825283	\$30.23	0	\$0.00	\$50.00	\$36.00	\$9.09	\$4.26	\$10.00	\$46.28	\$100.00	\$100.00	\$0.00	\$0.00	\$40.00	\$0.00	\$395.63
1516806	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00
881582	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
563064	\$30.23	1	\$30.23	\$60.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$190.23
890293	\$30.23	1	\$30.23	\$50.00	\$0.00	\$9.09	\$4.26	\$10.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$0.00	\$203.58
1322230	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
511429	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$400.00	\$450.00
509659	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
834083	\$30.23	0	\$0.00	\$50.00	\$86.40	\$9.09	\$4.26	\$10.00	\$0.00	\$100.00	\$0.00	\$0.00	\$0.00	\$200.00	\$0.00	\$459.75
514586	\$30.23	2	\$60.47	\$80.00	\$0.00	\$0.00	\$0.00	\$0.00	\$46.28	\$80.00	\$100.00	\$0.00	\$0.00	\$0.00	\$83.25	\$450.00
2120934	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2120927	\$30.23	2	\$60.46	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$200.00	\$410.46
821723	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
821775	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
670446	\$30.23	0	\$0.00	\$50.00	\$72.00	\$9.09	\$4.26	\$10.00	\$0.00	\$0.00	\$105.00	\$60.00	\$23.10	\$0.00	\$0.00	\$273.45
886282	\$30.23	0	\$0.00	\$50.00	\$7.20	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$100.00	\$110.00	\$31.90	\$0.00	\$200.00	\$489.10
654792	\$30.23	0	\$0.00	\$55.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$55.00
679562	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$46.28	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$46.28
686964	\$30.23	0	\$0.00	\$50.00	\$28.80	\$0.00	\$0.00	\$0.00	\$23.14	\$100.00	\$100.00	\$40.00	\$15.25	\$100.00	\$0.00	\$417.19
894583	\$30.23	0	\$0.00	\$50.00	\$25.20	\$0.00	\$0.00	\$0.00	\$46.28	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$221.48
873451	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1142688	\$30.23	2	\$60.47	\$50.00	\$0.00	\$9.09	\$4.26	\$10.00	\$46.28	\$100.00	\$0.00	\$140.00	\$53.30	\$100.00	\$0.00	\$433.40

	BOTTLE DRIVE	BOTTLE	1ST BOTTLE		GARY'S TOTAL			CHRISTMA	2ND			TOTAL MONEY	TOTAL PROFIT			
STUDENT	SHARE	DRIVE	DRIVE				CHRISTMA		BOTTLE	2ND TRIP	3RD TRIP	FRESH IS			5TH TRIP	
NUMBER	VALUE	SHARES	PROFIT	DEPOSIT	TITHE	S BASKETS	S 50/50	SALE	DRIVE	DEPOSIT	DEPOSIT	BEST	BEST	DEPOSIT	DEPOSIT	TOTAL
807215	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
882151	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
865032	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$0.00	\$45.00	\$17.10	\$0.00	\$0.00	\$167.10
1166545	\$30.23	0	\$0.00	\$50.00	\$9.00	\$9.09	\$4.26	\$10.00	\$46.28	\$0.00	\$200.00	\$60.00	\$22.95	\$100.00	\$0.00	\$451.58
831876	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$100.00	\$0.00	\$0.00	\$100.00	\$100.00	\$450.00
807680	\$30.23	2	\$60.47	\$50.00	\$43.20	\$9.09	\$4.26	\$10.00	\$0.00	\$0.00	\$100.00	\$80.00	\$30.50	\$100.00	\$42.48	\$450.00
684934	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00
536955	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$46.28	\$0.00	\$200.00	\$0.00	\$0.00	\$154.00	\$0.00	\$450.28
760794	\$30.23	0	\$0.00	\$50.00	\$124.20	\$0.00	\$0.00	\$0.00	\$23.14	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$197.34
629154	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
514595	\$30.23	1	\$30.23	\$50.00	\$23.40	\$9.09	\$4.26	\$10.00	\$46.28	\$150.00	\$0.00	\$185.00	\$70.25	\$0.00	\$0.00	\$393.51
2120385	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$250.00
865112	\$30.23	1	\$30.23	\$50.00	\$39.60	\$0.00	\$0.00	\$0.00	\$0.00	\$75.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$194.83
629164	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$400.00	\$0.00	\$25.00	\$9.55	\$0.00	\$0.00	\$459.55
871393	\$30.23	0	\$0.00	\$50.00	\$52.20	\$9.09	\$4.26	\$10.00	\$23.14	\$100.00	\$100.00	\$60.00	\$22.80	\$40.00	\$0.00	\$411.49
753468	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
872444	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
810981	\$30.23	2	\$60.47	\$50.00	\$0.00	\$9.09	\$4.26	\$10.00	\$0.00	\$100.00	\$0.00	\$0.00	\$0.00	\$100.00	\$200.00	\$533.82
599818	\$30.23	0	\$0.00	\$50.00	\$25.20	\$9.09	\$4.26	\$10.00	\$0.00	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$198.55
654232	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
501341	\$30.23	1	\$30.23	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$23.14	\$100.00	\$100.00	\$0.00	\$0.00	\$100.00	\$0.00	\$403.37
664263	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$250.00	\$0.00	\$250.00
831967	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$200.00	\$0.00	\$0.00	\$0.00	\$0.00	\$250.00
620020	\$30.23	0	\$0.00	\$50.00	\$41.40	\$0.00	\$0.00	\$0.00	\$46.28	\$100.00	\$100.00	\$40.00	\$15.25	\$100.00	\$0.00	\$452.93
616720	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1513805	\$30.23	0	\$0.00	\$50.00	\$64.80	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$314.80
624249	\$30.23	2	\$60.47	\$0.00	\$61.20	\$9.09	\$4.26	\$10.00	\$46.28	\$0.00	\$0.00	\$110.00	\$42.35	\$0.00	\$0.00	\$233.65
811215	\$30.23	2	\$60.47	\$50.00	\$57.60	\$0.00	\$0.00	\$0.00	\$46.28	\$100.00	\$100.00	\$0.00	\$0.00	\$0.00	\$35.65	\$450.00
619228	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00
886520	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
802666	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00

	BOTTLE DRIVE	BOTTLE	1ST BOTTLE		GARY'S TOTAL			CHRISTMA	2ND			TOTAL MONEY	TOTAL PROFIT			
STUDENT	SHARE	DRIVE	DRIVE			CHRISTMA	CHRISTMA		BOTTLE	2ND TRIP	3RD TRIP	FRESH IS		4TH TRIP	5TH TRIP	
NUMBER	VALUE					S BASKETS		SALE	DRIVE	DEPOSIT	DEPOSIT	BEST	BEST	DEPOSIT	DEPOSIT	TOTAL
620946	\$30.23	O	\$0.00	\$50.00	\$0.00	\$9.09	\$4.26	\$10.00	\$0.00	\$100.00	\$0.00	\$0.00	\$0.00	\$150.00	\$0.00	\$323.35
515425	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
600966	\$30.23	2	\$60.47	\$50.00	\$0.00	\$9.09	\$4.26	\$10.00	\$46.28	\$0.00	\$0.00	\$20.00	\$7.55	\$0.00	\$0.00	\$187.65
844471	\$30.23	2	\$60.47	\$50.00	\$122.40	\$9.09	\$4.26	\$10.00	\$46.28	\$0.00	\$0.00	\$260.00	\$98.75	\$50.00	\$0.00	\$451.25
842718	\$30.23	0	\$0.00	\$50.00	\$30.60	\$9.09	\$4.26	\$10.00	\$46.28	\$100.00	\$100.00	\$155.00	\$58.70	\$0.00	\$0.00	\$408.93
513421	\$30.23	2	\$60.47	\$50.00	\$192.60	\$9.09	\$4.26	\$10.00	\$46.28	\$0.00	\$0.00	\$60.00	\$22.80	\$0.00	\$100.00	\$495.50
515126	\$30.23	0	\$0.00	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$300.00	\$0.00	\$400.00
677629	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
501477	\$30.23	1	\$30.23	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$55.00	\$20.95	\$0.00	\$250.00	\$301.18
849161	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$0.00	\$0.00	\$100.00	\$0.00	\$250.00
517758	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
882038	\$30.23	1	\$30.23	\$50.00	\$39.60	\$9.09	\$4.26	\$10.00	\$46.28	\$100.00	\$100.00	\$0.00	\$0.00	\$100.00	\$0.00	\$489.46
619271	\$30.23	0	\$0.00	\$50.00	\$140.40	\$9.09	\$4.26	\$10.00	\$46.28	\$0.00	\$0.00	\$230.00	\$87.80	\$0.00	\$102.20	\$450.03
842811	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$0.00	\$30.00	\$11.25	\$200.00	\$0.00	\$361.25
664265	\$30.23	1.5	\$45.35	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$23.14	\$100.00	\$100.00	\$65.00	\$25.25	\$100.00	\$0.00	\$443.74
823337	\$30.23	1.5	\$45.35	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$23.14	\$100.00	\$100.00	\$20.00	\$7.55	\$100.00	\$0.00	\$426.04
630955	\$30.23	0	\$0.00	\$50.00	\$84.60	\$9.09	\$4.26	\$10.00	\$46.28	\$100.00	\$0.00	\$215.00	\$85.20	\$100.00	\$0.00	\$489.43
607189	\$30.23	0	\$0.00	\$50.00	\$30.60	\$9.09	\$4.26	\$10.00	\$46.28	\$100.00	\$100.00	\$135.00	\$51.45	\$100.00	\$0.00	\$501.68
539782	\$30.23	0	\$0.00	\$50.00	\$122.40	\$9.09	\$4.26	\$10.00	\$23.14	\$100.00	\$0.00	\$50.00	\$19.25	\$0.00	\$75.00	\$413.14
622901	\$30.23	0	\$0.00	\$50.00	\$0.00	\$9.09	\$4.26	\$10.00	\$0.00	\$100.00	\$100.00	\$35.00	\$13.40	\$0.00	\$200.00	\$486.75
677376	\$30.23	0	\$0.00	\$50.00	\$14.40	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$200.00	\$0.00	\$0.00	\$0.00	\$185.60	\$450.00
537174	\$30.23	0	\$0.00	\$60.00	\$0.00	\$9.09	\$4.26	\$10.00	\$23.14	\$0.00	\$200.00	\$0.00	\$0.00	\$0.00	\$0.00	\$306.49
861468	\$30.23	2	\$60.47	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$100.00	\$0.00	\$0.00	\$100.00	\$100.00	\$510.47
605783	\$30.23	0	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$55.00	\$20.80	\$0.00	\$0.00	\$70.80
654684	\$30.23	0	\$0.00	\$50.00	\$45.00	\$0.00	\$0.00	\$0.00	\$23.14	\$100.00	\$100.00	\$20.00	\$7.40	\$0.00	\$0.00	\$325.54
618906	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
823284	\$30.23	0	\$0.00	\$0.00	\$0.00	\$9.09	\$4.26	\$10.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$23.35
513468	\$30.23	2	\$60.47	\$50.00	\$32.40	\$9.09	\$4.26	\$10.00	\$46.28	\$100.00	\$0.00	\$25.00	\$9.85	\$0.00	\$0.00	\$322.35
671766	\$30.23	2	\$60.47	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$60.47
2024430	\$30.23	2	\$60.47	\$50.00	\$27.00	\$9.09	\$4.26	\$10.00	\$46.28	\$0.00	\$100.00	\$40.00	\$14.95	\$0.00	\$0.00	\$322.05
877745	\$30.23	0	\$0.00	\$50.00	\$3.60	\$9.09	\$4.26	\$10.00	\$0.00	\$100.00	\$0.00	\$20.00	\$7.70	\$200.00	\$0.00	\$384.65

	BOTTLE DRIVE	BOTTLE	1ST BOTTLE		GARY'S TOTAL			CHRISTMA	2ND			TOTAL MONEY	TOTAL PROFIT			
STUDENT	SHARE	DRIVE	DRIVE	FIRST	AFTER	CHRISTMA	CHRISTMA		BOTTLE	2ND TRIP	3RD TRIP	FRESH IS		4TH TRIP	5TH TRIP	
NUMBER	VALUE	SHARES				S BASKETS		SALE	DRIVE	DEPOSIT	DEPOSIT	BEST	BEST	DEPOSIT	DEPOSIT	TOTAL
615851	\$30.23	C	\$0.00	\$0.00	\$14.40	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$14.40
1512903	\$30.23	1	\$30.23	\$50.00	\$61.20	\$9.09	\$4.26	\$10.00	\$0.00	\$100.00	\$0.00	\$40.00	\$15.25	\$0.00	\$0.00	\$280.03
872976	\$30.23	C	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
515136	\$30.23	C	\$0.00	\$50.00	\$52.20	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$30.00	\$11.25	\$0.00	\$0.00	\$113.45
816521	\$30.23	C	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$46.28	\$100.00	\$100.00	\$0.00	\$0.00	\$100.00	\$0.00	\$396.28
852159	\$30.23	2	\$60.47	\$50.00	\$0.00	\$9.09	\$4.26	\$10.00	\$0.00	\$100.00	\$100.00	\$70.00	\$26.35	\$0.00	\$0.00	\$360.17
614323	\$30.23	C	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
830833	\$30.23	C	\$0.00	\$50.00	\$45.00	\$9.09	\$4.26	\$10.00	\$46.28	\$100.00	\$0.00	\$305.00	\$116.45	\$100.00	\$0.00	\$481.08
853386	\$30.23	C	\$0.00	\$50.00	\$43.20	\$0.00	\$0.00	\$0.00	\$23.14	\$0.00	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$216.34
634546	\$30.23	C	\$0.00	\$50.00	\$95.40	\$9.09	\$4.26	\$10.00	\$23.14	\$0.00	\$0.00	\$310.00	\$118.15	\$0.00	\$0.00	\$310.04
802652	\$30.23	2	\$60.47	\$50.00	\$84.60	\$9.09	\$4.26	\$10.00	\$46.28	\$0.00	\$100.00	\$130.00	\$49.00	\$0.00	\$0.00	\$413.70
853861	\$30.23	C	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
842733	\$30.23	1	\$30.23	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$100.00	\$0.00	\$0.00	\$0.00	\$200.00	\$430.23
815860	\$30.23	C	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
815871	\$30.23	C	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
836286	\$30.23	C	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2076157	\$30.23	C	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
815981	\$30.23	2	\$60.47	\$50.00	\$28.80	\$9.09	\$4.26	\$10.00	\$46.28	\$100.00	\$100.00	\$95.00	\$36.65	\$37.99	\$0.00	\$483.54
513494	\$30.23	2	\$60.47	\$100.00	\$46.80	\$0.00	\$0.00	\$0.00	\$46.28	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$96.45	\$450.00
842865	\$30.23	C	\$0.00	\$50.00	\$126.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$100.00	\$165.00	\$63.00	\$100.00	\$0.00	\$539.00
617948	\$30.23	C	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
821574	\$30.23	C	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
839127	\$30.23	2	\$60.47	\$0.00	\$0.00	\$9.09	\$4.26	\$10.00	\$23.14	\$0.00	\$140.00	\$0.00	\$0.00	\$0.00	\$0.00	\$246.96
684480	\$30.23	C	\$0.00	\$60.00	\$37.80	\$9.09	\$4.26	\$10.00	\$46.28	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$167.43
521199	\$30.23	C	\$0.00	\$150.00	\$0.00	\$9.09	\$4.26	\$10.00	\$0.00	\$100.00	\$0.00	\$20.00	\$7.55	\$200.00	\$100.00	\$580.90
842605	\$30.23	C	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$46.28	\$100.00	\$100.00	\$0.00	\$0.00	\$100.00	\$55.00	\$451.28
807604	\$30.23	C	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$23.14	\$100.00	\$0.00	\$30.00	\$11.25	\$200.00	\$100.00	\$484.39
515168	\$30.23	C	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$46.28	\$0.00	\$200.00	\$30.00	\$11.55	\$0.00	\$0.00	\$307.83
816663	\$30.23	C	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$100.00	\$0.00	\$0.00	\$100.00	\$100.00	\$450.00
1095726	\$30.23	C	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7373081	\$30.23	2	\$60.47	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$225.00	\$85.50	\$0.00	\$0.00	\$295.97

	BOTTLE DRIVE	BOTTLE	1ST BOTTLE		GARY'S TOTAL			CHRISTMA	2ND			TOTAL MONEY	TOTAL PROFIT			
STUDENT	SHARE	DRIVE	DRIVE			CHRISTMA	CHRISTMA		BOTTLE	2ND TRIP	3RD TRIP	FRESH IS		4TH TRIP	5TH TRIP	
NUMBER	VALUE	SHARES	PROFIT	DEPOSIT	TITHE	S BASKETS	S 50/50	SALE	DRIVE	DEPOSIT	DEPOSIT	BEST	BEST	DEPOSIT	DEPOSIT	TOTAL
515141	\$30.23	1	\$30.23	\$50.00	\$97.20	\$9.09	\$4.26	\$10.00	\$0.00	\$0.00	\$200.00	\$130.00	\$50.35	\$100.00	\$0.00	\$551.13
759027	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1141392	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
815846	\$30.23	1	\$30.23	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$23.14	\$100.00	\$0.00	\$45.00	\$17.25	\$0.00	\$0.00	\$220.62
843084	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
645410	\$30.23	1	\$30.23	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$30.23
695781	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
802986	\$30.23	0	\$0.00	\$50.00	\$16.20	\$9.09	\$4.26	\$10.00	\$46.28	\$0.00	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$235.83
886471	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
506808	\$30.23	1.5	\$45.35	\$50.00	\$32.40	\$9.09	\$4.26	\$10.00	\$34.71	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$140.00	\$325.81
1320318	\$30.23	2	\$60.47	\$50.00	\$25.20	\$0.00	\$0.00	\$0.00	\$46.28	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$170.00	\$451.95
1294458	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1422588	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
699496	\$30.23	2	\$60.47	\$50.00	\$0.00	\$9.09	\$4.26	\$10.00	\$46.28	\$100.00	\$0.00	\$0.00	\$0.00	\$100.00	\$0.00	\$380.10
1463347	\$30.23	0	\$0.00	\$50.00	\$0.00	\$9.09	\$4.26	\$10.00	\$0.00	\$0.00	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$173.35
832595	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1355089	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
816046	\$30.23	2	\$60.47	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$46.28	\$100.00	\$100.00	\$0.00	\$0.00	\$0.00	\$0.00	\$356.75
687659	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
819969	\$30.23	0	\$0.00	\$50.00	\$0.00	\$9.09	\$4.26	\$10.00	\$46.28	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$119.63
628696	\$30.23	2	\$60.47	\$50.00	\$162.00	\$9.09	\$4.26	\$10.00	\$46.28	\$100.00	\$0.00	\$260.00	\$99.35	\$0.00	\$0.00	\$541.45
832789	\$30.23	1.5	\$45.35	\$50.00	\$32.40	\$9.09	\$4.26	\$10.00	\$34.71	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$140.00	\$325.81
872475	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
849149	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1333409	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
692141	\$30.23	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
851909	\$30.23	0	\$0.00	\$0.00	\$0.00	\$9.09	\$4.26	\$10.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$23.35
515166	\$30.23	1	\$30.23	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$46.28	\$100.00	\$0.00	\$0.00	\$0.00	\$100.00	\$200.00	\$526.51
936381	\$30.23	0	\$0.00	\$250.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$250.00
871877	\$30.23	2	\$60.47	\$50.00	\$7.20	\$9.09	\$4.26	\$10.00	\$0.00	\$100.00	\$10.00	\$245.00	\$93.20	\$0.00	\$0.00	\$344.22
517963	\$30.23	2	\$60.47	\$50.00	\$0.00	\$9.09	\$4.26	\$10.00	\$23.14	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$156.96

	BOTTLE		1ST		GARY'S							TOTAL	TOTAL			
	DRIVE	BOTTLE	BOTTLE		TOTAL			CHRISTMA	2ND			MONEY	PROFIT			
STUDENT	SHARE	DRIVE	DRIVE	FIRST	AFTER	CHRISTMA	CHRISTMA	S BAKE	BOTTLE	2ND TRIP	3RD TRIP	FRESH IS	FRESH IS	4TH TRIP	5TH TRIP	
NUMBER	VALUE	SHARES	PROFIT	DEPOSIT	TITHE	S BASKETS	S 50/50	SALE	DRIVE	DEPOSIT	DEPOSIT	BEST	BEST	DEPOSIT	DEPOSIT	TOTAL
487671	\$30.23	C	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$23.14	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$378.00	\$451.14
515138	\$30.23	C	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$200.00	\$0.00	\$0.00	\$100.00	\$0.00	\$350.00
834063	\$30.23	C	\$0.00	\$50.00	\$153.00	\$9.09	\$4.26	\$10.00	\$46.28	\$100.00	\$78.00	\$275.00	\$104.75	\$0.00	\$0.00	\$555.38